KNOWLEDGEPLUS TRAINING CENTER

Dear Parents / Students

Due to the unprecedented situation, Knowledgeplus Training center is mobilized and will keep
accompanying and supporting our students through this difficult time. Our Staff will be
continuously, sending notes and exercises on a weekly basis through what’s app and email.
Students are requested to copy the notes and do the exercises on their copybooks. The answers
to the questions below will be made available on our website on knowledgeplus.mu/support.php.
Please note that these are extra work and notes that we are providing our students and all classes
will be replaced during the winter vacation. We thank you for your trust and are convinced that,
together, we will overcome these troubled times.

Knowledgeplus Training Center

Mathematics

Garde 10&11

Notes and Exercise

Note:(All the Notes, Examples and Exercise are on the
photos and Note:(Please copy all the Notes, Examples
and Exercises on your copy book).
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Attempt:Ex1(i-xii)

1 )olve the following pairs of simultaneous equations by using the elimination method.
i) x+y=38 (i) x-2=8 \ (iii) - 5x -6y =14 (iv) &-2y=5
“ox-y=0 X-y=179 Tox-y=3 “x+2y=9

(V) 2+3=8 [([vi) -5y=13 (vii) 2+y=3 (viii) x+2=14
Y-x =5 \Jx+hy =1 - =1 K+3y=1
=5 +4 (0 b-y=10 ) e y=13 i) -2y =13
A-5y=-6 I+l =-1 " Kx-dy=-2 -3 =0
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Attempt:Ex1(i-viii).

1. Solve the following pairs of simultaneous equations by using the substitution method.

i) x+y=17 (i) 2x—y =14 ([l'j) dx +y =-12 (iv) bx—y =5
X—y= xX+2y=1 2x + 5y = -6 X+ 2y=29

(V)2x + 3y =1 (vi) bx -2y = -11 (vii) 3x—4y =1 (viii) y = 2
x+2=0 X+ y=1 . 2X—y=3 y=3-1.




